B B F #H #F 8B =X
I % & W — K No|W160903B
% X F & — F  No.
B O F A — F  No
B @ i 1,500.79 ni|A (R
wOHE B H 2016 4 9 A
B O£ @& i 74362 il #&|SiE
2 @ # & F R itigE £ K E M 1,409.38 i | | Gh TR : (LB : 3 (PH):
= X m & A ® T E K B X M 5 m
A & 8 i T 1) i m|F # P& = 448 m
B X i + 1) i m|& LY A E=3 26200 m
B % R #l £ £ B @ M m |5+ A E::3 019 m/gEni
B R o E | B B @ B m | & ] =) & 1650 m
& # ¥ wlt — 5 @ * m
EHAMRER E o F ¢ @ M 63342 nil- = @ W = 1205 =
FHEMRNER N L o= — @ H 000 ni|= # 17 =
E OB OB B mlk 54y 7 @& m |4X ES A # A
1’4 R [} i m
B8 F A 2 ANEEHER m
T # F Al B E v +t@E & mMlg B W B E & 4TEHE &
FA | % od & B W mlE B ow B B A %EEEE &
7oL - F Ot # 2 » B R
s+ £l % 2] Bl %
B 1R’ 12 S
” FEEIR
EZ-IRY—F w7l ¥ -
SRR 922 Eir3 oz| F ® &
ESEES 78 [ 108] ~© i ® s
8-y 12.2 ’ =
FhEE & 0.9
E ] 13 x fad % & M
AR 2.2 . .
& BHHK 06 x ® = i
RER 18 - ” %
" HREM 33| = = 277"
K |2 ZEK 9.2 % " .
REH S4IA-~ 9k 438 " S 0.00 m
FirE e =
1FL =] & 0.00 m
# [id il
M T I %
ERERE oo (m/Bm) 1.00 — L
WAL 13 = WAL
RREI 85.5 + n N
g 10.2 BRI Bk (i /ZEm) 0.91 355
ﬁ% 70 w &
EP-GZ 12 ;
E=-17AR 70.6 9 S
BEY-F 24 " “
£ PBERIM 2.1 =
RENFI 16.2 . =
2 HUHR 32 B OE 5 #
440 0.3 (T -5R1K)
BAR-F 20|iRE1 L& 158 m3/@&m
BRLIE 099 m3/Em
B REIC 1) 002 m3/gm
(R 001 m3/Em
HEG) 002  A/Em
HMEEE sk (i /FEm) 1.02 WEGYT L) m3/Em
Ktk =) m/Em
EP-GZE 83.6 PE] m/Em
BEEEV-F 16.4 EyrEEE m/Em
23 )+ 025 m3/Em
HRav5)-F m3/Em
&R+ 0.19 m3/E&Em
ES R m3/5ni
EEET Sooeeek (mi/FE m) 2. 24| ERERIR 060 m/Em
EOTERE w00k (m/Em) 0.00 EPGZE 39| TFE m/Em
FRE +00x (m/Em) 0.45 AR 027 m/Em
E'=-902 85.1| ERESk A 31.36  ke/ZEM
ERRER 43| T 85 keg/ZEm
1L#EPB 3.1| EEREk AR 589  kg/ZEM
7 PBih 3.6]|EH 10.30  H\FRi/ton
£ ke/ZBm
B m/ton
Py BEZE mi/ton
% KL [Pt m/ton
K —FEIRE ++* (M /EM) 0.000 # (Z D)
Th3 78.9 AMHFIEM) m3/Em
ATULA 10.8 RHGEEM) m3/Em
s [xF 103
W} |75RF)
B [Prvs-
o [h=5u9-n
# xE
T BERF-I
STEREH O ek (m/ZEm ) 0.06 R E R Soeerrk (M /3Em) 0.93 ERESE))
FIZ [E RC
ATULA 05 cB
"’; 27— 132 ALC 740
Fi BEAF-I 2.0 R EAMR
P 39 R
m | RE 784| m [LGS 52.90
Tt h-TU9t-L £ [WAREED 39.80
RERRE O Zskorck (m/ZEM) 019| ¥ [ESEGD
3 FrmEm KT
py |[EEILAAIS B BN FI
EEILI20 xH Z D
E-d = IRC] (ni/FE i) 0.00
PN Z Dt ] (mi/FEm) 1.38




